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Complex numbers

Section 3.4 Argand diagram - Modulus

Text & Tests 0 ©

If z = a + bi, then the
of z. written as |z|.1s given by
|z| = Va® + b

A Example 1 )

Given that z; =4 + i and z, = —2 + 2i, plot the following on an Argand diagram:
0.z,.,2, and (z; + 2,).
/.} ‘2/ ( 1 /2)

Also calculate |z4] ,|z,| and |z + 2.
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Exercise 3.4
1.

Plot each of the following complex numbers on an Argand diagram:
(i) z;=3+5i (i) z,=-3+i

21, (2], (2], I24 7

(iii) z3=5i -

(iv) z4=—1—3i

2,2 345 |atbi |= [o% + b*

|2]=|2+5:|={37+5> = &Y
(2,4 -3 1= {3 1™ = fio
6 [ |6il=10745"= 5
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] -1-31] = #4137~ fio
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